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Tom researches the weights of plant seeds.

-+ One poppy seed weighs 3 x 10 grams.
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Anewborn baby has an approximate mass of 3.5 kilograms.
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1 This table shows the populations of the four countries of the UK in 2012.
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Country Population
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‘Scotiand 531 10°
Northern Ireland 18210

(a) Write the population of England as an ordinary number.
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() Work out the total population of Wales, Scotiand and Northern Ireland.
Give your answer in standard form.

(®) @
() The total population of the UK is predicted to reach 73.3 millon in 2037.

Calculate the predicted percentage increase i the UK population from 2012 to 2037.
Give your answer correct o 2 significant figures.

(e % 14
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Work out the value of R.
Give your answer in standard form to an appropriate degree of accuracy.

13 marks]





image1.png
8 (a) Write 000562 in standard form.

(b) Write 1.452 x 10° s an ordinary numbe.

(Total for Question 8 is 2 marks)





image2.png
7 () Write the number 0.00008623 in standard form.

3210 +5.1x10%

(b) Work out ik
310

Gitve your answer in standard form, correet to 3 significant fgures.

(Total for Question 7 is 3 marks)





image3.png
19 (0) Write 0000423 i sandard form.

R PR ——

otalfor Question 19 s 2 marks)




image4.png
9 Work out the value of (® x 1079 x (3 x 107)
(e youramsver i ssndard form.

(CTutal fo Question 12 mark)




image5.png
8 Waite 0.000068 in standard form..





